
1/10

  

  

  

 

Please read all instructions carefully:

1. Have 2 adults on hand for assembly.
2. 50% Tighten before fixing all screws, Allen wrench is recommended instead of an electric drill.

3. Place the item on a flat ground to adjust and make sure it remains stable.
4. Tighten up all screws with tools gradually.
5.  If the screws are not aligned with holes during assembly, please loosen all the other screws to 50%

and continue the assembly process.
6. If the item is not stable, please loosen all the screws, adjust it on a flat ground and tighten up all 

screws again.
7. Note : If one or some screws are fully tightened during assembly, chances are the others will not be

  aligned with holes. In addition, all the holes are designed to be relatively larger to provide
more space for the adjustment of the screws.

N715P250512
N715P250513

OUTDOOR  DAYBED



2/10

Prolonged exposure to rain may cause rusting which can stain floors



C

C

A1
A2

B1

B2

3/10

E

E

F1

F2

D

D

D

D

D
D

D

D

D

D



1 pcA1 1 pcA2 1 pcB1

1 pcB2 2 pcsC

1 pcF1 1 pcF2

10 pcsD

28pcs+Extra 3pcs1 6pcs+Extra 1pc2 38pcs+Extra 3pcs3 4

1 pc8

BOLT M6x15 BOLT M6x35 Washer M6x15x1 Blind Rivet Nut M6x45

2 pcsE

2 pcs+Extra 1pc5

BOLT M6x65 Nut M6

2 pcs+Extra 1pc6

wrench

2 pcs7

Allen Wrench 

Top right frameTop left frame

Bottom right frame

Bottom left frame

Decorative cover Chair legs Pillow

Right mattressLeft mattress

Part List :

Hardware list:

4/10

8 pcs + Extra 1pc



CARTON CONTENT:
N1715P250512 ( BOX 1)

N1715P250513 ( BOX 2)

1 pcA1 1 pcB1

Top left frame

Chair legs

5 pcsD 1 pcE

Pillow Left mattress

1 pcF1

1 pcC

Decorative cover

1 pcA2

Top right frame

1 pcB2

Bottom right frame

Chair legs

5 pcsD 1 pcE

Pillow

1 pcF2

Right mattress

Decorative cover

1 pcC

5/10

Bottom left frame



! 80%

80% 100% X

13

4
1

A1

A2

B1

B2

! 80%

80% 100% X

1 3

4
A1

A2

B1

B2

2

A1 x 1 A2 x 1 B1 x 1 B2 x 1  1  x 4  3  x 4  4  x 4

 1  x 4  3  x 4  4  x 4

6/10



3

4

D

D

1
3

1
3

! 80%

80% 100% X

C

C

2
3

D

D

D

D D

D

D

D

D

 1  x20  3  x20 D  x10

 2  x6  3  x10 C  x2  5  x2

3  6
3  6

5  3

6  x2

7/10



Adjust high for balance Adjust low to balance

5

Adjust  pre-installed levelers height of balance

8/10



6

7

E
F1

E

E
F1

F2

E

F2

 F1 x1  F2 x1 E  x2

9/10

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16

Admin
Typewriter
02-16



8

9

10/10


	1.1.pdf
	Sheets and Views
	Layout1


	2.pdf
	Sheets and Views
	Layout1


	3.pdf
	Sheets and Views
	Layout1


	5.pdf
	Sheets and Views
	Layout1


	6.pdf
	Sheets and Views
	Layout1


	AI N715P250512.pdf
	AI.pdf
	Sheets and Views
	Layout1

	2.pdf
	Sheets and Views
	Layout1


	3.pdf
	Sheets and Views
	Layout1


	4.pdf
	Sheets and Views
	Layout1


	5.pdf
	Sheets and Views
	Layout1


	6.pdf
	Sheets and Views
	Layout1


	7.pdf
	Sheets and Views
	Layout1




	1.pdf
	Sheets and Views
	Layout1


	2.pdf
	Sheets and Views
	Layout1


	3.pdf
	Sheets and Views
	Layout1


	4.pdf
	Sheets and Views
	Layout1


	5.pdf
	Sheets and Views
	Layout1


	6.pdf
	Sheets and Views
	Layout1


	6.pdf
	Sheets and Views
	Layout1


	1.pdf
	Sheets and Views
	Layout1


	2.pdf
	Sheets and Views
	Layout1


	tttttt.pdf
	Sheets and Views
	Layout1



